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AXt = pthl + € (1)
AXt = o+ PXt—l + € (2)
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. reg d.x 1.x, noconst

Source | SS df MS Number of obs = 107
+ F(1, 106) = 0.12
Model | .000056558 1 .000056558 Prob > F = 0.7279
Residual | .049264066 106 .000464755  R-squared = 0.0011
+ Adj R-squared = -0.0083
Total | .049320624 107 .00046094  Root MSE = .02156
D.x | Coef. Std. Err. t P>t [95% Conf. Intervall

x |
L1. | -.000073 .0002093 -0.35 0.728 -.0004881 .000342

. reg d.x 1.x
Source | SS df MS Number of obs = 107
+ F(1, 105) = 1.64
Model | .000757989 1 .000757989 Prob > F = 0.2031
Residual | .048510245 105 .000462002 R-squared = 0.0154
+ Adj R-squared = 0.0060
Total | .049268235 106 .000464795 Root MSE = .02149
D.x | Coef. Std. Err. t P>t [95% Conf. Intervall

x |
L1. I -.0260229 .0203163 -1.28 0.203 -.0663064 .0142607
cons | .2583581 .2022601 1.28 0.204 -.1426864 .6594026
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